Hoja 1.5 Fisica 2° BAT © FerMates
Soluciones http://fermates.com/seccion-08/hojas bl.htm

1.-

a) P=Py/9

b) v=4565’5 m/s;

La orbita no es geoestacionaria (T = 7’34 h, para ser geoestacionario, tendria
que ser T =24 h).

Rorb = 42297’5 km
E= 578-10°J
IL| =13 -10"* kg-m%/s

a) F=13303°05 N
b) Em= —6°32-10%
¢) E= 6’32 -10'°

a) d=359275 km
b) [L| =1°233 -10* kg - m%/s
C) Vp,=8927°5 m/s =893 km/s

a) g=22"23 m/s*
b) F=0’44 N
¢) v=2813-10>m/s

a) gL=161 m/s*
b) Ve (L) =235 km/s

a) T=43200s
b) h=2’02-10"m
c) v=3’87 km/s
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